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Figure S1.

CH,CH,00

dih(C,C,0,0,) = 180.0°
dih(HsC,C,0;) = 180.0°
din(HsC,C,05) = 59.7°
dih(H,C,C,0,) = -59.7°
din(C,C,0sHg) = 121.1°
din(C,C,0,H,) = -121.1°

CH, CH(OH) O

0,C,Hg = 133.1°
C,C4Hg = 109.0°
C,C4Hy = 109.3°
dih(H;0,C,C,) = 127.1°
dih(H;0,C,05) = 1.5°
dih(HsO,C, H,) = -121.5°
dih(0,C, C,H,) 52.1°
dih(0,C,C,Hg) = -68.50
dih(0,C,C,H,) = 172.9°




TS1

HC =109A
HC =109A
HCG =121.4
HCG =121.3°
HGH =116.9°
HGCC =118.7°
HGG =116.6°
HCGH, =112.8°

dh(GC.O.0) = 22.9°
din(CO,OH)= 19.0°
dh(QOHG) = -16.3°
dih(HCCO,) = -87.8°
din(H,GCO,) = 99.6°
dih(HCOQ) = -146.1°
dih(HGCOQ) = 100.6°

2

HCG =110.7°
HGG =109.9°
HCG =114.5
HGCCG =111.00

dih(C.GO0,) = -118.0°
dih(COOH) = -1.2°
dh(QQHC) = 13
dh(HC.GO) = 61.2°
dh(HGGQ) = 179.9°
dih(HC,00,) = -59.7°
dih(C.Q0:) = 118.8°



[HCOH"HOO]c omp

QH =0.97
QOH;, =99.5°

din(C.CHQ) = 121.8°
din(GHQ.0;) =-116.9°
din(HO,QH,) = 106.2°
din(C.GCHH,) = 179.7°
dh(CGGHH) = 0.2°
dh(CCHH)= 0.2

TS3

OsHs =1.09

0O;,0,H; = 99.8°

dih(C, C,030,) = 178.3°
dih(G,0,0,H;) = -89.0°
dih(C,C,03Hs) = 123.1°
dih(C,C,0;H;) = -123.6°
dih(C,C,0;H,) = 26.0°
dih(C,C,0;H,;) = -26.1°

™

GGH;, = 133.1°
GGH = 93.I°
GCGH = 104.00

dih(HOCO) = 137.3
dh(HOQCC,) = 16.0°
dh(HOGH) = 65.6°
dh(QGCH) =  5.6°
dih(QC,CH) = 112.8°
dh(OCGCGH) = -137.3




120.3°
164.3°

1.84

2.26

TS

C,CH = 111.9°
C,CiH = 109.4°
C,C,H = 107.6°

dih(HO CGO,) = 128.2°
dih(HOGGC,) = - 76.6°
dih(HOCH)=  9.9°
dih(QGCH) = 34.9°
dih(QGCH,) = 156.2°
dih(QGCH) = -85.6°

[CyC'HZCCHZOUI_D-]comp

HGH =  115.1°
HCH = 1175

din(C.GO0) = 104.6°
dih(HC.CO) = -104.3°
dh(HCCQ) = 102.9°
dih(HC,CO) = 105.6°
din(HGG Q) = -100.5°
dih(C.GQH) = -99.7°

TG

HCH =  111.1°
HGH =  119.7°

dih(GGG.Q) = 0.0°

dih(HC.GO) = -111.1°
dih(HC.GO) = 111.1°
dih(HC.CO) = 87.5°
dih(HC.GO,) = - 87.5°
dih(GGOH) =  0.0°



HOCH,CH, O

dih(C1C20304) = -10.0°
dih(H;C, C,0;) = -127.5°
dih(HsC, C,0;) = 125.3°
dih(H,C,C0O;) = 67.6°
dih(HgC,C,0;) = -51.5°
dih(C,GO,H,) = 29.4°

TS7

diGCO,Q) = 33.9
di(HG CGQO:) = -164.7°
dih(HC CGO;) = 120.7°
dih(HGGO:) = 86.8°
dh(HGCO;) = - 26.9°
dhGCO,H) = 36.5°



